BRI 2P BB EREY SERITEERS 2ED R

108 & 1% 18 p R#s ¢ il 8
108# 2% 1 pkitr -HETB

Y. tErE
=k
RE 2 )
[ XYY R
Z|z|I|F Ktk it RV A WHz g e W3 4
ARE
£33
olg|als({RI4 PHzRE 3 X [2]2p bHEFE [R)4P P8 | [HFIRIKTZ [(Fl12pp#EFE ([~]1p =2
ARKERT £ T E6 2 P AEBRR £ 3 rEd P |[R]4p ke
[#]4p Fhssih % [EP|[4£] 2-4 p T EPik WEF AL | [WI1BpEmY ([F19pF2%3r¢ (W] 11 prrerad
9110(11]12 T £ #4 IEP M4REY ¢ | [RI1DPHRAFRE (=) #(16:30) T
£ & [:7)4p HiF¢4F HAE [#%]16-18 p#r %% [[4]18 p 107-1# %
16117118119/ [4% 1 4 p 2 #sk v ([3') 4 p eitigd |[$]10-11 p 108 & [#%] 18 p 5 Rirg (T =
#FLR ¢ COREE S:EE R BF D w2 [#])21p 107-1&8 2:30)
[k] 78 pirg=gw[2)1lpp-§1 PEFRBER HEpLAaRnPF|[+]19p#25
23|2412526 gAY PEES # O EEESEE (#2788)
(%] 9-11 p %33 [3'118 p wH¥sn [(A)11p#%F &5 o Rl B [(®] 2131 F=ze
30|31 [£]10 P &= SRR s@nma g 4| FRZKE2 R
FRE L ﬁi&'\i?‘ AR S
[#] 11 p SFRAH % (%119 p#fls &5 %’?\ =2 s
IEP £~ B3 ¥4 PRP BT T raA WL AT
IEP § 3 (B 24 T-Fz¥%-
[%])16~18 p % % [#121-22-23 P 1 Mﬁ,gg;z
(118 p %% TQC f #£7=¥ ¥ 3
[%] 21 p % BR4 [®]26-27-28 p ¢ [#®] 21~31 52 &
[%] 21~25 P % Bik¥ LRV RE Y RS AN
w¥ (AT #1579 IP { #%
[3£] 22 p * 5w~ £ 2 [#]22p 7oc g 4F
[:£] 25-26 p + B 5§ B
[£]125p 2% W3 L E
() 28 pat ¥
(=] 29~2/2 2 %< ¥ I}
[3£] 30 p 4% = 5§ 8w
1okl lpat@gsag ([211pb#IFFE | [FI15p &P 43 ([l P53 2% [FL11POHIEFE (W11 p7 F2
[x]10p FEEL *Efr &P FHERE £ 3 @Ry P HIvF2 1%
[:£]) 11 p 3 [»']11p BRELA (14 :10~15: [#-~3:x)22p %8 |[&]10p 2BERK > B R
S17T|819 (]l pAdt(F=[2]11-15p 2R 50) =®e% | [R11 pPecr a8 [[414P% 2 50 6
¥ ) Flik [R]18p 5=~ mé ¢ (17:00) PTRP%&8R
[#%]112-14 p p 5# - [[3'] 12 p 359" F-pEPA¥E| [ ~3x)23p 5 | [k]11 papp ¥ SRR




[:£] 18-21 P 3 =

RET MHEE

Lr4BB 4 4F

£

[%] 20 p &g 3fpz

10[11]12[13|14]15]16 E g3 @[] 15 p $FF 4R FEF LB B PO [#] 18-27 2 R&EMm
F [2)15 P %% R (%) Fop g | [H£]12 p3tpin ZIPAE
[#%]13-15 p A7 #- A ST A2 (M122pRpB=-F | [#H]123P 7%= [%118p %-=x% |[[H]19p 754
17(18(19|20(21|22|23 £ nprTE 8 4ei9|[37) 22 p F & HHGE e A S I0H #-2: YR 1 [+)23 patrty
& e [7122-23p 2% | [#] ¥ 3T (16:10) (#3*1pk
24(25(26(27|28 (3] 14-18 p s = ~|[4£]22 P ALMES B 43w | [(£118p %- %% 14 )
ZEBERPEB L ¢ [#]25-2TP & ¢ FFe(17:00) [[*) 28 P e e & P
¥ (2123 pAFcatl fVHREFRE [£]20p & HH wiR
[#])18 p i Fxii FREz E7d | [2]27TP-37 5P EHR
1E¢ AEAAWE [%]21-22 p 3B ¥
[#119 p 5Bz 25k RRERELELG B X 1
7 B 35 TR [%)23 p# 3% 1
[k]21-22 psrs =% [(#127TpP Rz g p A ip
IxHmdumy 2 ¢85 LY (R ¥ T
L I =4 (3] # =k #A)
3 EE ME R A [k] 287 kT
(k)2 p%2B% 1 < % (2/21~3/16 EFHER
ARREFLE 1) PEB-oF2R
[%)23 p# 3% 1 psk 3 eEF
B it #(h (~4/30 1+)
I FHAE) [%] 25-27 P 3 %
[:) 26 p ¥EFR >S5 € €A
(@25 p =% 4
[4]26 p 5= &5k (4] <3539 R
by B TR 45
[:£] 27 p FEp sy
¥
(i) 280 ° $RTEL
FHEZER-F
SR E Ry
(~4/30 &)
1o ([3£]16-13 pRFRLE [4]2p craM2R |[#£]9P S 55 HR | [H]l2ak72 [Fl4ppHEFE (1] pAERR
B2 LR 3€ D) B3 3 L r@EgyEp |[W12 PT3535 %%
[£19-10 PR BERF (24P PHFEFE ([#]11-15prds | [#14-8pHFE3 [[#]6-13p3HT2R g
3(4|5|6(7|8]9 ¢ T ER e R LEBY 21U ¥F L [M)4 p TRz
[:£]11-12 P~ 2% 5 ([+']18 p Hi7 ¢ % (1121926 F|[HF)6 P E26%E |[F]16pg#R R4
10{11]12(13|14|15|16 HEF L (4] 8 pALME 8 (2) Rt REFAL D % 1iE3 Bk %) ()50 % Frck
= [())112-13p#B=% |[3'115P ¢ F ¥ 47ih ¥FY D) TERERT  ([%]9-10p 3 ¢ HE i
! 17|18|19|20(21 22|23 el ke [RAII5p 137 LR 4§ ¢ [(M]18 P M# 41l
[RY15p RpsF2F [2]15 P BPHIFFE ER R o [(#18psa=k+ |[K]12-13p FF= T ER L
(3] 18P~ £%1 % 1- *F &y g ([#£]18-29 pER - Y HE AR Fraimy [[MI15 pP i
24125|26(27(28/29(30 TE¥E%HE % 8[']2pF- 22K £ 7 TR T ER [k]118-29 pZf ~ ® FFoER
FHIL%-BE TEDERME 2EEF L) (] 18P 3B EFP TR T fo# o
31 FES% [+')28-29 p3- 2|[A12TP 4P+ A ELRILCE 2Ny EHEREF ()| [R]19p Frcg 4

[M]3l pP 4




VHCFRMEL ([AL] 29 pPARER 2P ()20 p i e A B L LN AT
[3] 19-21 p + B B £ €)) (] 28 p e+t EY = § & [F])20p b4 8FH £
i ®Fh &R [#‘122B§? 6 &% kS 2
[4]) 22-24 £ 13 g3 CORES Lk i F-Fy¥Lerp | [&]25-27Tp %- =%
[k]) 25-27 p & - =¥ ARPAFEE % e d
L 4 3 [#)129p5%3=0 |[K]27p Fspa
[:£] 27 p F85plaY BEITEP € A
[ A
sl [1lolslalsle|lFYILR~-52 3p5-[[211p#%FE (#1137 TCFR [ 2EFS2® [[K1Lp5-=0° [[MI1p5*pin
I TRELE 24 3 U &S ! AR B B
¥ # s (58] 10-12 p Expr [[H] 11 p F 88| [#] 3 p 553 0 1+ [+)4p2i&%R
9|7(8]9|10/11/1213| (3] 1 p 37 4 + % FG#3) FEFLE ¢ paterp g | [F11P3I8FE 5P A %#FE &
L [3") 12 p %67 € & (%) [#]9 P53 =#& *Fdog WP %R
10114]15/16/17]18]19|20{ (¥ 8-9 P ¥ B = % (#] 13 pFir—2 L[] 13 p % g 2E B 3 [%11-3p TACF# [[HI9IPH* 75
AR [")17-19 p 3 =2 THA €& (#19FPHEBELZ TR R & ¥
[7)9-11 p 5% - &% BRI KRES[R] O ATHFE - BEEFE) ([F)3pckgsgy ([B]23p FocésF
11121)22)23\2412526) 27 L PV TE £ B -4 16:00 3 () [F130 po g3
[(J10-11 psd =% [[3'V9PSAKTH (TIP3 -TAFA| (FIL2pEVHSE | [K]8-9PBH=% B REED
12]28(29(30 * X dp WY R BRI % A EgEN =21 % (%)
(311216 p #HF5 (2123 p- £52 [[#]120 7 55k 63| (H1129 2V R | (4107 #BR22
RERREZIMN 2R WS FRR R =& BWE FEZHE()
(7116 p 24 %3 - 3 S o [4123-29 p 2R+ | [#)15 P #BRE [[F£]10p 3z i
B F A EE R[] 24-26 p §zkv e R REEER S (B=z= 2% ~
% Hodp & (2)16:00 B--3%)
(k119 pHzRY% 2=x|[4]26pamEd |[#£]12 p#na% |[W126pF¥4#% [[#¥]111p3- 26
APKERT 4 e 1 % £ 4503 28
[#]119 p 2REFFF| (8] 29 p FHRPT R T ¢ (3 [%]12-16 p 3 5

£ =R H

[%]19p &> E3 3

(:124 PRFRERE
%3

[ 30 p %7 @&
P E P E
HipF g 4

# &3

[(2#129p-57% 3L p
#ﬁ%éﬁiﬁ
RA4RY

(3] F £ R8>

r ﬁﬁﬁ’ﬁﬁqﬁ%?‘
AL

LERERER
E5 A
[k]15p 2B % 2
ZREFL €
ERPLE /e
KHE® €3k
(16:10)
CORLEE:S 3 3!
REEEGE
(2)
[#]15pixéatn
(%)
[%]16p % 1=xiF
¥4
[£)17-19p -2
BZRIPEES
B




[k])19p 2Rk
HRENEY
(14:10-17:00)

[(xK120FP € ¢
P

[%])23-29 p 2
il T H
ZHEEL

[()24p 38:% %
i

w By

12

13

14

15

16

20

27

21

28

22

29

23

30

10

24

31

(12 pir3 - #uk
FEBRP §
(71 [%]3 P53 -

ERERLSINTES
FEBRP §
[5])36 P53 £kiE
PESEE S
[:£)4-5 pe -8t
- Eplsd
[=)6p 18:00 3

- EBFRAR
EESE N 1
[]7-9 pir- &%
Ffesind i
[K]T78piFB=%-
Zdp7 R
[:£]7-23 B+ Ed 34

[:x)9-10 p+~ Epr?
#ﬁﬁﬁﬁﬁﬁﬁ

[(k)13~15FP%- -3
gl g & 1L 4

(3] 13 pHE2FEi
EEN

(32114 P & =58>
£

[2)]1 P pHIEST
*Fdog K p
[3']3p %6 €%
[#] 3 P AL #(5)
[#)89prarE
[:'] 10 p REKRT#
1B
(48] 15-16 p -kiF ¢
[#]) 20-24 p 3w

(] 24 pAeWiEs
(6)

(4] 26-31 F A%
T

[+') 26 p 2B P25 §

[+']131 p & %534
#

[Z)4% 29p-5 7%
AlpirEri
Whrip Ry

(%145 0P seipld 2
JRI%

[#]7 0 54
FE-XxLE ¢

[#]13-15p &2
FRALBEL

CORUEE FE2:3
EE =

[7%116-26 p 3=
B3 EERS
§HF

[#]125p 2R
BEF - 3
A 3 iRl

(#1126 p s+ § ¥
CXIE SR

(31 28-30 p 2% §
i = i

(131 pFgss-
L E S B

(] ABKT 7

[#]15xFEx
i

[#] 15+ 850E
* 8 G RAE P 2
#

(#1173 FH
Wi

[#)20-26 p B2 %
VAR TR

[#)1péed g
(7)1 P HIEFE
*Fdop P
[kK)4-5peH- %
- > ERI%Y
%#4
[k)8~14pw H=
LHPEF R
FERLTE
[E]8rpR=kcld
PEUAK)
[%)9-10p & = ¥
* 3
[#)13~15p & - -
- Bl g & |
<
[k)]14p3=8%
Sl Eo Rl N
[k)16p 23 =
PRI A |
[k)18~19 P A*¥ %k
El 4
[k]20p 3=%-
xH A
[k120p 3- 3=
RS [ 4
BB
[#]) 2024 p 83:F »
FImEEGE
[%)21FP3%=%-
S I R
FNAFBZH
- xR gz
Yoy ¥
(£)22p =53

[®])7-18 p ==
g - L4 By
(¥)

[R)7 P~ Focg
i

[W])16 pWE 4L R
]

[2) 21 p g

[+)27Tp RAEH®B




[(:£]16 P~ & @ 1Y 3
Wi

[;£)16 p 2% 3 =4+
¢ ¥

[]16 p 22457384
A g

[#) 17 pAFRsLE =
I [EP 2 i#

#(47)
[:£]18-19 p WY k7
§3

[]20p 3=4%

(3120 pB- ~B=#
Tt Rl L

[%])20~31 P RE B2
TEEFIHMER

[)20p~6 % 14 P %
—xPrPTEEL
8 e gie

[£)22 pR=/Y 34
How

[#=])23~30 p 3= £#
B4 £

[:£] 23 p F 8RB K
¥

[:£) 23-28 p= - %
FRWE>FRY

PRI L
[$]23 p 5R= &5k
HF YRR
[:£)24 P22 3=z2#F
& %

[#]24 prgi= &m
IEP 2 ¥y

[:£]) 24-30 p o - &
MECES-MBEK
FHEL

[)3] padszxs-4
Z%FiR %

FEHR
(16:30) ~ % = =%
iR ¢ H(17:00)

[£)23pixéin
€D)
[#]) 23 p %% supl

L4 ¥

[,k])23-28 p = 3=

LHBEFE

[ R 5

[k]24pB=%=
e it
[%])24-30 p = =
EE Y-
FEEHHE L
[k)25p k43
BEF -~ 344
1 iRl
[£]26F A FIH

£
[k)28pB=%=
it g S
FAXFFZH
S i
[k)3lpaFzg=
4 A |

16

17

[F]14 pAFzE#G
2. 38'5Y

[:£)5-13 p e $- &g
ErES-MER
LIk A

()1 p2¥Esi
[2]3 P BHIEFE
* Fdoy Ep
[3'] 14 p %67 € 5
[AL]) 14 p AL W=

[#£]156 p a4
R e o
B

[#)10-14 p &P &
/5B

[#] &8 %x
AU
(#16p3p=2%
= i
(] 10 p 3 BH0

[£)1p &

[k]3p %21
PEGE- -3
)

[F)3pBHI#EFE

[WM)3 pEakz

{AHREER R
(417 pagg= &k
(2111 P+ Foch

*




[)6 pnzZRBY 3 =

[#] 2] pBRBKT

[#] 15 p TQC 4%

WP (THP

*E g &

(2] 25 p 5§ 4

1819 |10)11112]13) 14/ 15 rixEFL S |[3']21 Pkl i 4T ¢ [F1dapxgstn |[WMI25pR%ekz
[#110 pAFHhsIE - ([3']128 B %S ()14 0 3Bz # (%) FW{AE R
19(16(17|18(19(20|21 |22 - # % [EP(¥) B [%)5-13pw- &|[8)28p 10728 %
[x])12~14 p %¥% ErEF - it € &k
20 (23(24(25(26(27|28 |29| (3] 13 P R *® $ B » & BERuE LR
e LE L ForREFE
(2] 14 PR B> 5 2]
21130 58 4 47 5 CIEREES =T
(4] 14 p 55o- - 25 #=(%)
# % IEP ¢ & (%1135 A2 g
[#])17T p#x$EEiF S LHE L
ESE1C)) [%) 14 p @Y $E >
[£]20 p 5= &R £ 55 3 47 3]
@y g [&]15p TQC F# it
[45] 21 P 5 & Bit a7 T
2475 [)17-18p 3 - 3
[3£] 24 pe - B HiB %%
(47 PR S ) [#)19p%- =%
¥ SEBEH
[:£) 26-28 P =3 =- % (16:30)
LRG> FEE [kK) 24 pe - 2L
% 25 A BRFrE22
[)26~28 P B3- ~ % TERLE
ZEeEFP R [#) 26-28 p = =
[k)29pF B BER4 LHEBIE A
FrRBAIEA
[%]) 26~28 p % — -
g I 4
[3]) 28 p k3"
112134156 (k11 PR=3R% ([2)1pP0HI&FFE ([#]431 PEFF | (1197 FFw [K]I1-3PAFHT |[LIIpHFicg
[i£)] 1-3 B + 4 Lf * @6 $p 7 TR TER AEERA PP 4
PR R EA: ()3 pws=- B [[W]22-31 pR%WK
7189 (10{11(12|13|[22) 3 P F - ~ B = & [®)27-28-29°¢ |[#)24p *¥%3 BELE > %l FHAMW{A
ST PR AN AEEEIR |[R]13peP-B8x ([B)23p FocgdF
. 14|15(16]17/18[19]20|(3£] 3 P = H = B H B (AT F8)E) B ErELL g
- E > Fuai [#])26 P H&EE@ »tHE
9 [:£) 3 P w - &EUE SHEERLRE |[£K13pB- -~
21(22(23(24|25|26|27 PP, BUH R x4 s g B
¥ (] = %805 > a*
2829(30(31 [:£)3-6 pws-bix FauEps |[k]136peH-%
ErExunidi ERER, ﬁzﬁ'%ﬁ?%&?ﬁ
BEA AR

=
E
[S2}

[k)5p2F%-=x




[#])6pa¥

[(K18PR=-BHWHL

[x]9 P R"¥ ﬁ.ﬁg"g
P LH 24

[:£)] 9 P # 3% 2 F v

[:£) 10 p w3 &85035
» FAah

[) 11 p 22 RETAH

[3£) 12 PR® L3 > &
A2 T

[:£] 12 P FASIH S
EZz AR 852

4 5]
[#] 15-16 P €£# & 3%
RIEE

[:£) 16-22 P = - %
Frd BuE L
#ny

[(;£]118 p#F¥+ F4
SN R

[#=]18~19 P £# 3%
v L]

(] 19-28 P~ B %3
AR

[=)23 pa2L €z
s

[=])23-24 p £E# i35
7

[:£] 24-28 P < & %3
ABEEED

[:£) 25-30 P = - &
FRAFERLIRE

[x]26p BHERX

(7129 pAcEARB A

WY rLH
[)9F %-=%#F
[)19p R¥ £33

32 S SN
[%])10 p = 3= %8y

ﬁ»gﬁ;fg
[%]11p %-%#3

XHgEP O F

PG

2 5-zmd 2

¥
[kK)12p A7 L3

B34 475
[(]16 p %= 44
[%)16-22 p = £ =

LRsERY

i 20
[()18p %= =¥

AgEE O F

FoxATAE
[k]19p e infp:

frddp et
[k)123p 2% B - ~

BoFTHmLHE
[k)25p-30p 2 &

‘%”ﬁk§§

I\Jﬁ

B 4o
11213 [31]6 BE#:-%%;{& [’i]lEfﬁ#‘l%-f"‘&’:‘ [?’I]GEE#:@% 3,%]65;‘%—"{'?3’{5
g i * Fh e Ep - 23 1 E
[£)7 P BHAF %] 20 p Frcd 3F
415(6]7]|8/9/10 o %7229 108-1 # 4~
~ [%]122 P B BELER b g
3 11(12[13]14|15(16(17 ZXap
[x] 23 B%ﬁfﬂ(i—“
T o r’%
18(19(20(21|22|23|24

T)N(FER= -2 F

e ¥ i)




2526|27|28|29(30(31

L=
-~ FEAVRAZABLFR > FAMPRIEFRERTR FREFPH L RH2 -
S~ AHRFIEAIB EXARERE 108 FEF 1 FHPRS-FFFE -




